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Even though it has no slat, etc. — 9912 3% 7% N9 28 Y R

OVERVIEW

An 791P0X (a threshold) is the demarcation area between the inside of a
house (or "2m1 7¥1), which is a *"1717, and the outside (the 2"77). The Xn>2
taught that regarding an 79170X if the door to the house (7X17 or "121) is open,
the 791P0K is 0°1972 like the inside and one may carry between the 791708 and
the inside. If the door is closed then the 79P0X is 75 like the outside, and
one may not carry from the inside to the 19poR. It appears from the &n>12
that if the door is open, the 790K is 0°19%, without any other qualifications.
The X713 challenges this for X ' taught that the entryway to a 121 requires
a separate "’ to allow one to carry there (even if that space is less than ¥ '7
o mov 7). Seemingly here too even though the 79P0X is bounded by the two
doorposts that frame it, these doorposts are similar to a °n?; therefore one
should not be able to carry from the 79370X to the inside of the house. Noo1N

19N

(after citing and rejecting s™"w" interpretation) explores this issue.

—*5nba 195WaNY Man NYPONI 9917 PNYT XPYDT 7YY YO
>"w9 explained that we initially assumed that we are discussing a
threshold of an alley which was rendered fit (to carry in it) through a sn>.

mooIn disagrees with >"w7s:
— 1 NHPONI ‘oY 79902 MNP RN XY

" A »1an is an alley (into which the courtyards around the alley open into), which is closed at three sides and
at the fourth side it opens into a 71"717 (like a dead end street or cul-de-sac). One is not permitted to carry in
this 71277 "2n (it is permitted 7707 11) because of its proximity to the 7"77 (even if MX2M 21w was
performed). In order to carry in this *¥2n a °n? (or slat [even of a miniscule dimension]) is placed near the
entryway to the "12n from the 7"717, and then it is permitted to carry within the "2 up to (the inside edge of)
this °n. However one is not permitted to carry past the inside edge of this >n%, unless one make another >n%
closer to the 1"711 (and then one will be able to carry up to the inside edge of that *n%).

2 See previous footnote # 1. The X3 asked, ‘even if it has no °n%’; indicating that if there would be a °n7 it
would be understood why the n23p0R is 0°1973 (and we may carry). However the 2 of *n% applies
exclusively to a »12n but not to a 7X1 or n°2 (which require 0°05 to permit carrying in a similar situation [see
footnote # 6]), therefore >"w stated that this 7wpn assumed that we are discussing an "12»n nopPOX. See
footnote # 23 for another possible explanation why >"w" assumed that we are discussing an 12 N9POX.

? The word 'o2w>' is generally used when a certain interpretation was negated and we now assume the
original interpretation. Here too 27 71X 7717 27 wished to interpret the X072 by an "12n nN91P0K, to which 27
"X responded that 11°poy n*2 nopoRa 021wH (and not an "M2n NOIPOX as "X "1 suggested); indicating that
originally we assumed the &n72 discussed an n*2 n9IPoX (and not an "1 N9IPOX). [However, mdoin could
not prove his point from the fact that 27 92X 77177 27 stated, '1°1p0V "12 NOIPORA K37, indicating that initially
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And nMo0n disagrees with >"w7%9, since “wX 17 shortly states; we are really

discussing a threshold of a house; indicating the initially we assumed that the
XN 172 of 79IPOKR was discussing an N2 NHIPON.

mooIn offers his interpretation of 719P10KX in the Xn>>72:
— 8N4 1°a $H°27 12 21T 122 NAPON Y32 999197 AN NIN

Rather it seems the Xn»721 is discussing all cases of 121PoR; whether it is

2% N9IPOR, or whether n%a No1pox, or whether 2%m N5IPOX -
— %31 0IWN 1Y 1Y 99T 23 YY X VPN

And the X3 mentions (in its question) ‘and even though it has no "n%’,

only in regards to %122 NIPOX (but not for XM N*2 NHIPOX) -
— “@r093 XN *n9159) 3T 903 1N 8N 2T

For a n°2 and a 9317 are not made permissible to carry within their borders
through a ’n% or a beam, but only through 2vo5.

mooin offers an alternates explanation why °n% is mentioned:

— 18917 309) I HNTA 199553 523 98MY 1727 DIVN INY VDI 3123 IN
Or you may also say that the X3 mentions "1%, because a 9%m n°2 are
also 2n°1 through a "1 from this side and a >r% from the other side.

mMooIN continues to describe this 191P0X (according to the N”L‘l):8
— NHON TIH NINY - 1)) 192139901 720N 2299 1339 NOPON NPT Y991

And we are discussing a case where the 79170R is positioned adjacent to
the thickness of the 122 wall which means between the two 21, which

we did not assume it to be an "121 nNOIPOR, because "X > is teaching us that we are not discussing a "2n
172 17°waw, but rather a 7P 1WORY Man (see R'"AwT ). ]

* This indicates that with a °r% it is understood why it is 0219%3; however this cannot apply to 7¥m n»2.

> A "an can also be 701 by placing a beam across the two side walls of the »1an bordering the entryway to
the 1"71. One may carry in the "12n anywhere from the beam inwards.

% If the wall which separates a n°2 or 7¥r1 from an adjacent 1"77 collapsed so that the 7¥m n°2 are exposed to
the 2"777 on one side, one may not carry within the 7% n°2 unless one places a 03 (a board) wide four o°r5Y
where the collapsed wall stood (or he may place two 2°05 of a minuscule width on both ends of the exposed
wall) thereby closing the exposure somewhat. See footnote # 7. See X,2° ,X,” 1217°V.

7 See previous footnote # 6 (in the parenthesis).

¥ This explanation is valid for "7 as well.

? The i is the wall which surrounds the ™2n on all sides. On the fourth side ([the north side] which opens
to the 7"717) the wall encloses the "2 partially [from the east and the west] and the space between the walls
is the opening to the 7"77. The 19 POX is on this north wall opening between the two partial extensions from
the east and the west. The n19poX is bordered by the two sides of the northern wall. This is referred to as
7 221w, the thickness of the wall. See following footnote # 10.

' The s *2w is the equivalent of 0, see previous footnote # 9.
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is the inside of the opening -
— o939 78 Yy AMIND 2P TEN NTMIY N1

And the door to the 27 is positioned by the inside thickness of the wall -
— Zmesnn 73 1Y YO XN NNI NN MY 1Y IMINY 02953 NIND NN Y977

And therefore if the door is open the 719170k is like the inside of the '*»1n
(or 7¥m n»2), because that width (of the 791P0K) is a complete "7 for it

has three walls; namely -
— 09 189 HYIHYI NMIND 229N MNINN /3

Two wall of the thickness of the »12n wall and the third wall towards the

inside; the back (south) wall of the 1an -
— x93 N9 NI 1199929 T8IV 29 Y 9N

Even though that on the fourth side it is completely exposed to the *"711 -
— Bmssnn 7199 Yrv 0293 N1Y 3IY IMN YA NING NNSNY 113 597 19%9N

Nevertheless since the door to the M2 is open, therefore this width where

the 7191P0K is, is nullified to the inside of the »12» which has four Mmoo
However if -
— 0293V N1IY YV 1IN DIYI NINY 11997 INDI DIV NNO

The door is shut the 79210KX is considered to be outside the "7, for since

the door is shut, the 79170K is not »va to the inside (the »an) -
— 990NN DIPNY NN §I939 )

And it is as if it is entirely exposed to a forbidden place (i.e. a °"717).

mooIn anticipates [and corrects] a possible misunderstanding regarding yIn%3 91w nno:
— RPN NN 799 TOHD MY XNT NN XPITIND

And saying that the 79p0X is like the outside (which is a 13"77), is not
precise, for the 750X is a complete RN»IR7R "7 -

" The door that closes this opening in the north wall is inside the wall (towards the *1an), so when the door
is closed the people inside do not see the exposed inside faces of the eastern and western extensions of the
north wall. When one is standing immediately outside the door (facing the 7"777) he will be surrounded by
three walls; the door to the south (behind him) and the thickness of the eastern and western parts of the
north wall to his right and left.

"2 1t is evident from here that 1990 maintains that three M form a (Xn»NRT) "7

" From this point on (in this Md01N) the term 1271 includes 7x¥m N2 well.

'* Generally one is not permitted (11277%) to carry (even in a Xn»K7 *"77) if the fourth wall is completely
exposed to the >"771 unless he makes a 771 °1% or 0°09, etc.

' From the perspective of the "12n, the eastern and western parts of the north wall form the fourth wall to
(the north of) the "2n; however from the perspective of the 79p10KR the eastern and western parts of the
fourth wall are merely the two side walls of the 910K but it is fully exposed to the 7"717 on the north side.
'® The xm3, however, challenges this assumption for 1"X 3"2 11 ruled that 7% (7"v7 12 PR 9"YX) 1097 TN
17°nA% InR °n? and we do not say that it is 702 to the 0719 to consider it a >"in.
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— Y19 DYN HOHLY NORY VMY /) hY WY s
Since it has three mx°n» and it is forbidden to carry from the 79170K to

outside the 79p0x (to the 1"7M) -
— 02995 NPNRY 29Y YINDI 9P NON

Rather he refers to the 191P0K as ‘like the outside’, because the 79P0R is

not like the inside -
— ®nb1a ¥y ON AP 791 NN 2IYY D931 HLHVY NON)

And it is forbidden to carry from the inside to this ‘thickness of the
entryway’ (the 7191p0R) if for instance there is a hole in the door.

mooin offers an additional explanation of y1792:
— P5Y19995 mnaw 199 NINDD WY W 1) ON

Or you may also explain the expression yI7> if for instance the 79P0K is

open to a no%%D (not to a 1"7M), in which case one may carry from the 791P0K to the
n°%173 and vice versa (provided that it is less than N '7).

MooIN anticipates that one can establish the 79170 in such a manner that Y172 means like
a 1", however MdOIN negates it:
— NIPINY 839 °nninn 221Y ¥IN ©2390 MYI3 N9 N9IPONA YN

However we cannot establish the Xn>>72 by an 123poR which is entirely in

the 2'"'17 outside the thickness of the walls -
— 05390 MY 1T YINYD XMNA NIND NN 1IN 73 1133 INY INT

For if the 79p0X is not three o°rov high then even if the door is open, the

no170X will be yrs for it is a 2'"';7m -
— 02995 XD YINYD XY XMN XYY X2 5991190 74 NANT) /) 1912) N

And if the 79p0X is three 2°now high and wide four by four 2’50, then the
79170X, which is a nv»»=>, will not be either like the 2%1p (which is a *"77)

or like the Y7 (which is a1"m) -
— YYD £29Y9 NI DYDY XN 0D BIPN 71 HaNT NN ON)

And if the 79poX (which is three 2°19v high) is not wide '7 by o°nov '7) it is
a s 2p» and it is always Y921 271592 (for one may carry from the 2% and

' There is the door to the south and the eastern and western parts of the north wall which border the 7910K.
'8 Otherwise (if there is no hole) it is practically not feasible to carry from the inside to the 790K since the
door is shut. [Alternately y1173 can mean (that it is like a 7"77, so) that one is not permitted to carry more
than nIMX "7 on the 791POK (see WX '010 and [ MR TRA] R"wAnn).]

"% See “Thinking it over’.

29 In that instance Y1123 M09 1N would literally mean it is (like) a 2"7".

! Anything less than three 0'nou high in the 2" is considered part of the "7
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the Y17 onto the Mo 0P of the IDIPOR) -
— 02955 NIN ODIYY 15 ON 0299 NP NP INY

And if the 790K in entirely within (the "»2»); then it is always 2v15%>.

nooIn asks:
—MY YD 1D 2) DY GN 7999 NI 19 ON %2 NAIPONA 999197 113 9NN ON)

And if you will say; since we are (also) discussing an n°3 n2I1PoR; so why

does the X713 ask (and assume) ‘even though it has no n®’ -
— Zomo) 199 NP %9 9151 19 1R XIN NN RINDN N2 NOYPONR N

But an ns2 neypoR presumable is covered (by the lentil of the door frame),

and we can apply the rule of 2n1®Y 79 719720 %2 and therefore one is permitted to
carry there? 122

madIn answers:
1023995 133 DIYI NND ITPONR NIIPNAYT Y9N NIIPN 1IN THD HYT PNY 1929 9IINY

And the ''% answered that perforce we must be discussing a case where
the 79170 was not covered, for if it were covered even if the door is shut
the 7191P0R is considered 2°15%3 since it is a > for it is 7pn.

SUMMARY

The ®Xn>71 is presumably discussing an 790X of either a 7Xn ,n°2 or Man
(not only a »2n as >"w1 maintains). If mno nno it is Y02 to the °"7M, and if nno
21 it is still a >"777 but since it is 71"77% Y79 one may not carry from the
inside to the 79IP0X. We must presume that the 79170K is not 7P,

THINKING IT OVER

moon explains that Y 9w1 nno means when the 79IP0X opens into a
n"m73 (and then you may carry from the 790K to the n*>»13).%* Seemingly
the 79IPOX 1s a *"177 (as MdOIN stated since it has three walls); how then may
one carry from a 711 into a n*on3?1%

2 amo1 77 7pn o (literally) means that the edge of the beam descends and closes. We consider anything
under a roof as if there are walls descending from the roof enclosing the entire area underneath the roof
(provided that the area is 2’1oV '7 5¥ '7).

» This may be another reason why >"w1 maintains that initially the X3 assumed that it is a "1an n9POX
(where it is usually not 717pn), in order to avoid this difficulty. See footnote # 2. See 012X *19.

** See footnote # 19.

¥ See X"ow (and HX™MK NMIN).
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